FMIEE /MHIZORIRBLICEHAISSEIE R £ 1EEE
B®E (EKFE No. 1
5 ARL- 52| AALOBEEH
NO. I % 4% sy | B M O[FEE| B = = p | masawows | T
EAEHEBEOR EHRHRIE
| ERGRIE AR (F96 4 A | £A|L=110m SRS | F 1 mL
W=6.0(16.0)m
85 REBHPEBR BRMELS
2 BHAPBEMNEE| ABEN | H8LA | £K| 255 {HAHE | F 20+ H
I=%
INEREIRER BREETISE
3 | MEMEENMBEIE | ME (M8sA | LK| 218 FAME | FomEsy
EERRBO 15K ERRRISE
4 | ERBRIE ER #3954 A | £AK|L=100m e s | 552
W=6.0~9. Om
ERBMEELERR ERRRISE
S [ ERBRIE EMME |$95 4 B | K |L=50m e s | 553 A
W=6.0(8.0)m
EIRHELR ERSBEIE
6 ERHRIE B #3954 A | £A|L=60m LS | F 3L
W=4.0(5.0)m
eIl fEEFEIE
1T | HBEEEISE Nisg (8944 A | LA |L=130m EAHSE| £ 1HEH
U30
ERNRERhRRE BEEHEIE
8 |MAEEBEISE =R [$954 A | A |L=150m EEHF| £1HFH
U30
IR RER EHRHRIE
9 | ERBTRIE &R (97458 | £AKR|L=90m {ERmE | £10E3H
W=6.0m
FRET AR LR ERRRIE
10 [ AIEEEISE im  |F4 4R | £K|L=T5m ERESE | £103H
U30
HRFALRIEN WEFHIE
1| HEHRIE =M@ (¥93+4 A | &% |L=130m EEHF| £1HFH
32 W=4.5-5.0
iR R iR ETIE
12 [ERHEIE k. |$94 45 A | LAK|L=30m SRS | F 2 WAL
U90
EEmAREN WEFHIE
13 | HEHBRTSE BIREN (#9127 B | S5 |L=325n IRRHS | %1 mEy
W=3.0-3.5
AH_BIRER BEEFEISE
14 | fEZFETE &R |$94 458 | LA |L=165m BEHE | F2mEH
U40




B®E (EKH) No. 2
NO 8 ARl 228 |  AALOBEH
I % % ey | W OM OB @ B 5 st | mesanonn | P
M IRPFHERSY BEEEISE 3
15| fERKTSE FMAEF™ (K448 | £K|L=40m, E(F ELHESF| F20FH | (EH)
U30
YE R A BEEEISE
16| A:EZHETS MR |44 R | L£AK|L=50m RS | B2 M
U40
KIEN KEBEHEISE
17| KBBEETE =N |($16 4 A | K| L=170m EEHS | E20FH
U90
A th RER(E D REREHELISE
18| AEERTSE MmE %4458 | £K|L=60m EEHF | F20FH
U25-40
FHEIZ ERHETIS
19 | BERBEISE EBILIED |94 # B | £K [L=15m IREHS | B2ty
[150-80
i KET 3 F(EFHM ERE. KBS
20 IIBRFEIE =@ 984 A K| LEIEL=100m [$ERFHSF| 51 LFH
E30) U100-U40
TCARILET R IE D fEEHFIE 3
21 [ IBRFEIE FHIEFEMN (F93 58 | £K|L=100m EAHE| F2WFEH | (EH)
U30-40
AEREEF#R REEHELSE
22 | IBEFEIE XEB |#¥93 5 A | £K|L=50m EaHE | £ 2m4H
U30
& b LR E D KEBEHRISE
23| @katEkgeETs | NI (548 | £K|L=110m &8s | 51 mLy
U60
AL X KBEHEISE
24 | RKAFKBBIEIE | &R |83 1A | £K|L=40m EEHF | £ 1HFH
U40
RERTHRIEDL HEMEIS 3
25 | fHEMIETE KEAEM (#9145 A | #% |L=400m EAFHEE| F2mFH | (ER)
W=8.0
BEKBBEETISE KEBEHFISE
26 &t | RE TKR|KRE ERWmE | E2~mtyH
=RHA KEBEHEISE
27 | RKXEIE BERIEMN |94 1A | £K|L=140m &S| F3MFEH | GBM)




